CANDIDATE ADVERTISEMENT AGREEMENT FORM

See Order for proposed schedule and charges. See Invoice for actual schedule and charge									
I, Maggie Clark	, hereby request station time as follows:								
IDENTIFY CANDIDATE TYPE	ERAL CANDIDATE E OR LOCAL CANDIDATE								
ALL QUESTIONS/BLOCK	S MUST BE COMPLETED								
Candidate name:									
Kenny Griffis									
Authorized committee:									
Friends of Kenny Griffis									
Agency requesting time (and contact information):									
N/A Maggie Clark Media Services, Inc 139 Bent Creek	Drive - Brandon, MS 39047								
Candidate's political party:									
N/A									
Office sought (no acronyms or abbreviations):									
Mississippi Supreme Court Justice, Central District	w								
Date of election:	✓ General Primary								
November 3, 2020									
Treasurer of candidate's authorized committee:									
Conrad Ebner									
The undersigned represents that:									
(1) the payment for the broadcast time requested has been fur	nished by (check one box below):								
the candidate listed above who is a legally qualified car	ndidate, or								
the authorized committee of the legally qualified candi	date listed above;								
(2) this station is authorized to announce the time as paid for b	y such person or entity; and								
(3) this station has disclosed its political advertising policies, including applicable classes and rates, discount, promotion and other sales practices (not applicable to federal candidates).									
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.									
Candidate/Committee/Agency	Station Representative								
Signature: Maggie Cox	Signature: Dillard Name: Susan Dillard								
Name: Maggie Clark	Name: Susan Dillard								
Date of Request to Purchase Ad Time: 10/16/20	Date of Station Agreement to Sell Time: 10-16-20								

Federal Candidate Certification: The undersigned hereby certifies that the broadcast matter to be aired pursuant to this disclosure either (1) does not refer to an opposing candidate or, if it does, (2) contains a clearly identifiable photograph or similar image of the candidate for a duration of at least four seconds and a simultaneously displayed printed statement identifying the candidate, that the candidate approved the broadcast and that the candidate and/or the candidate's authorized committee paid for the broadcast or if radio programming, contains a personal audio statement by the candidate that identifies the candidate, the office being sought and that the candidate has approved the broadcast.												
Candidate/Authorized Committee/Agency												
Signature:												
Name:												
Date:												
TO BE COMPLETED BY STATION ONLY												
Ad submitted to Station? Yes No Date ad received: 10/19/20												
Note: Must have separate PB-19 Forms for each version of the ad (i.e., for every ad with differing copy).												
Federal candidate certification signed (above): Yes No N/A												
Disposition: Accepted Accepted IN PART (e.g., ad copy not yet received to determine sponsor ID)* Rejected – provide reason: *Upload partially accepted form, then promptly upload updated final form when complete.												
Date and nature of follow-ups, if any (e.g., insufficient sponsor ID tag):												
Contract #: Date Received/Requested: 11701.0004	NATIONAL CONSTRUCTION CONTRACTOR											
Est. #: KG OKIC 1020-3 Station Location: Mendian MS Bate Received Reducested: 10119/20 Run Start and End Dates: 10/21/2	20											
Upload order, this form and invoice (or traffic system print-out) or other documents reflecting this transaction to the O use this space to document schedule of time purchased, when spots actually aired, the rates charged and the classes of purchased or attach separately. If station will not upload the actual times spots aired until an invoice is generated, the of a contact person who can provide that information immediately should be placed in the "Terms and Disclosures" for the OPIF.	of time name											

4-

O WJE	KK-FM 97.2 DQ-FM 103 10G-AM 91	.1	10	FM 95.1 AM 1450 FM 104.1				Sal	es	Or	de	<u>r</u>			Date	10/1	19/2	020]
□ NEV	v accoun	Т								☑ Cust	New comer LOCA	Тур			Addition P	OLITICAL		Revise	
Advertis	ser:	4459	F	Friends o	of Kenny	Gr	iffis		1	П	REGI					RADE			
	/) Custor	ner:			Media S	-		nc.	1		NAT	IONA	L			THER			
	voice to:			RTISER			AGENO		i	Sale	s Rep				Sus	an Dillard			
Address	3 : 11 1			139 Ber	nt Creek	Dri	ive				ncy D luct C			ndidate f	or Supreme	Court Justice,	MS Ce	entral Dist	
City:				В	randon				1		g Typ		~		NDARD			ENDAR	1
State:			M		Zip:	Г	3904	7	1		5 71		П	DEM					
Contact	· 15. 10. 1					_			1	Co-C	Dp De	escrip	tion:						1
Phone:	32 37 33								ı	Nota		1	✓	YES		NO		-	1
	Enter Ou	ır Order f	or Advert	tising As	Follows	:					_	"N" f	or N	et or	"G" for	Gross	Γ	G	1
1 10000 1																			
Cart#	LENGTH	START	END	BEGIN	END		RATE				HEDL					TOTA		集系统	
Od. u	ELITOTT	DATE	DATE	TIME	TIME		14.0	Mon	Tue	Wed	Thu	Fri	Sat	Sun	WKS	#ANNS		DLLARS	
	30	10/21/2020	10/27/2020	600	1000	+	16.00	1	1	1	1	1			1	5	+-	80.00	1
	30	10/21/2020	10/27/2020	1000	1500	+	17.00	1	1	1	1	1			1	5	+	85.00	1
	30	10/21/2020	10/27/2020	1500	1900	\$	21.00	1	1	1	1	1			1	5	+	105.00	ł
						⊢		├	-	-			-	-		0	+		ł
						┝		-		-			-	-		0	1		ł
						├		-	├	-	-		-	-	-	0	+	-	ł
						├		-	-	-			-	-		0	_	 -	ł
						╁		-	-	_		_	_	-	 	0	+		1
						\vdash			-					_		0	+	-	t
						\vdash								_		0	+	_	İ
						\vdash										0	-	-	İ
						\vdash	www									0	\$	-	1
						Г										0	\$	-	1
Comment ORDER N		KG OKK 1	020-3													RE	МОТЕ		
									TOTA	AL AN	NS	15		NET	: 4-3-3	\$		229.50	
														GRC	SS:	\$		270.00	
MONTH	JAN	FEB	MAR	APR	MAY	Γ.	IUNE	LJU	ΙLΥ	ΙΑΙ	JG	SF	PT		OCT	NOV		DEC	TOTA
NET	07.11			7 11 11		Ť		1							29.5				229.5
GROSS						Т								-	270				270
#ANNS															15				15
that you certify t This station do broadcasting a 1. This offer bec 2. Bills shall be r 3. Station shall t rate. Advertiser 4. Contract subjections	the following states on the following states of the form a disconer a binding of the following states	ement (we appreciate in the sale of criminatory purp contract upon account and shall be due cancel this contract riney's fees in the by advertiser upon account and shall by advertiser upon account and shall by advertiser upon account and shall by advertiser upon account and shall be account and shall b	iate your understa of advertising tim ose, including b eptance by Gener payable within te ct upon default by event legal action on thirty (30) days	anding and coopere, and will account not limited to ral Manager of S on (10) days from a devertiser in the is necessary to	eration): ept no advertisi b decisions not tations or his aut day of invoice. e payment of bill: enforce this agn	ng who plate thorized Eighters and	nich is place ace advertis ed agent een percent other materia	ed with ar ing on pa (18%) inte	erest per a	o discrim	ninate on on the ba	the basisis of ra	is of race	e, gender der, nation	or ethnicity. nal origin or	Advertiser herel ancestry.	oy certif	ies that it is no	ot buying
		vertising-cash in a												ED!	NDO C	OF IZENIN	V 6	DIEEIO	
Account E	Executive:			N DILLAR	D					Adve	rtiser:			FRIE	NDS C	OF KENN	Y G	RIFFIS	
Accepted	For Station		V	VOKK						Title:						Date:			

Naggie Clark

Broadcast Order/Confirmation

MILDIA SEK	WICES		
Client	Friends of Kenny Griffis	Order No.	KG OKK 1020-3
Office Sought	Supreme Court Justice, MS Central District	Order Date	10/16/2020
Election	General Election to be held Nov. 3, 2020	Flight Date	10/21/20-10/27/20
Station	WOKK-FM 97.1 (Country)		Maggie Clark
	The Radio People	Agency	Maggie Clark Media Services, Inc.
Address	3436 Hwy 45 North	Address	139 Bent Creek Drive
	Meridian, MS 39301		Brandon, MS 39047
Contact	Susan Dillard, Political	office	(601) 992-3111
email	susan@wokk.com	mobile	(601) 668-2176
office	(601) 703-0531		maggiec@mclarkmedia.com

ORDER CONFIRMATION:

Please acknowledge receipt of this Order and confirm schedule and rates by signing below and

returning to Agent by email. Thank you.

Accepted for Station by:

Date: 10-16-20

MAKEGOOD

Make-goods must air within Flight Dates and Time Periods unless approved in advance by agent.

POLICY:

DISCLAIMER: This Political Schedule has been paid in advance by Friends of Kenny Griffis, a committee.

Quinton Dickerson, Chairman. Conrad Ebner, Treasurer. Kenny Griffis is a legally qualified candidate seeking the

office of Supreme Court Justice, MS Central District. General Election will be held 11/3/20.

SPECIAL

This order will be Fed Ex'd Standard Overnight with payment in advance and NAB PB-19 Form to

COMMENTS:

arrive Monday.

TRAFFIC-mp3: Emailed with order

FROM	то	START	END DATE	LEN	м	TU	w	тн	F	s	su	WKLY	TOTAL	GROSS RATE	TOTAL
WOKK-	F 97.1 (Mer	idian)					Г	Г						T	
6:00a	10:00a	10/21/20	10/23/20	:30			1	1	1			3	3	\$16.00	\$48.00
10:00a	3:00p	10/21/20	10/23/20	:30			1	1	1			3	3	\$17.00	\$51.00
3:00p	7:00p	10/21/20	10/23/20	:30			1	1	1			3	3	\$21.00	\$63.00
6:00a	10:00a	10/26/20	10/27/20	:30	1	1						2	2	\$16.00	\$32.00
10:00a	3:00p	10/26/20	10/27/20	:30	1	1					1 1	2	2	\$17.00	\$34.00
3:00p	7:00p	10/26/20	10/27/20	:30	1	1						2	2	\$21.00	\$42.00
Gross T	otal							L_					15		\$270.00
Station	Net Total											aelšio.oo.ki			\$ 229.50

WOKK-FM P O Box 1699 3436 Hwy 45N Meridian, MS 39302-1699

601-693-2661

Client:

FRIENDS OF KENNY GRIFFIS

Order #:

11201-00004 kg okk 1020-3

Description: Date Entered:

10/19/2020

P.O.#:

kg okk 1020-3

Salesperson: Dillard, Susan Invoice Frequency: Billed at end of Media/EOS, Sorted by Date

Phone/Fax: 6019923111

MAGGIE CLARK MEDIA SERVIC Attn: MAGGIE CLARK 139 BENT CREEK DRIVE BRANDON, MS 39047 USA

On-Air Schedule

	Start Date	End Date	Station	Scheduled T	ime/Event	Repeated	Length	Qty	Rate	Total	M	<u>Tu</u>	W	Th	F	Sa	Su	
1	10/21/2020	10/27/2020	WOKK-FM	06:00:00a to	o 10:00:00a	Weekly	:30	5	16.00	80.00	1	1	1	1	1	0	0	
2	10/21/2020	10/27/2020	WOKK-FM	10:00:00a to	o 03:00:00p	Weekly	:30	5	17.00	85.00	1	1	1	1	1	0	0	
3	10/21/2020	10/27/2020	WOKK-FM	03:00:00p to	o 07:00:00p	Weekly	:30	5	21.00	105.00	1	1	1	1	1	0	0	

Order Start Date: 10/21/2020

Order End Date: 10/27/2020 Spots: 15

Total Charges:

\$270.00

Combined Discounts:

\$40.50

Total Net:

\$229.50

Projected Media Month/End-Of-Schedule Billing Totals for FRIENDS OF KENNY GRIFFIS / 11201-00004 :

		Spot Count	<u>Gross Billing</u>	Combined Disc.	<u>Net Billing</u>
October	2020	9	\$162.00	\$24.30	\$137.70
November	2020	6	\$108.00	\$16.20	\$91.80

Confirmed & Accepted for WOKK-FM By:

Accepted for MAGGIE CLARK MEDIA SERVIC By:

Please Sign and Return One Copy